Math 1210: Quiz #2 Fall 2017
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[9] 1. Let f be a function whose graph of y = f(xz) is given below. Compute the following
quantities or state that they do not exist.
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(g) The average rate of change of f(z) over the interval [—3, —1] = 3 = E
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(h) The instantaneous rate of change of f(z) when x = —3 2
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(i) The equation of the secant line over the interval [—3, —1]
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(c) The average rate of change of f over the interval [2,4] is 2.
(8] 3. Compute the limit or state that it does not exist.

(a) lim desd = '&M Q*"-)( Lt +2')
7=-2 /22 + T +2 — 2 e (/Xi-f-x-fl. + L)(m 2)
7 b @z);\)mm +2.)_ - o x+) (T xez +2)

{0 (x2'+x+'z_)-

M(&z)(\lﬁ-wﬂ- +20)
A (x*z.)@‘ N

4

- -
—

3

X3 -2  X%*+ x —2

_M Uxhx+z 42 2{62')7‘-—-2"2"'?'

—

Za-2 X=1 S

|z = 3| . =(x-3)> _ o, =) ]
®) Jim 25 = i BTN e

Ry 3 (X=2)(%+2)



